B2

The of this car is $20,000.

Answer:

He his salary every month.

Answer:

The company a profit last year.

Answer:

She a lot of money on clothes.

Answer:

| usually my bills online.

Answer:

They a good income from their business.
Answer:

We a mortgage on our house.

Answer:

He his credit card to pay for the vacation.
Answer:

She her savings to buy a new car.
Answer:

They a loan to start their own company.

Answer:




Answers

The of this car is $20,000.

Answer: price

He his salary every month.
Answer. saves

The company a profit last year.
Answer: made

She a lot of money on clothes.

Answer: spends

| usually my bills online.
Answer: pay
They a good income from their business.

Answer: earn

We a mortgage on our house.
Answer: have

He his credit card to pay for the vacation.
Answer: uses

She her savings to buy a new car.
Answer: used

They a loan to start their own company.

Answer: got



